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QUESTION 1

Refer to the exhibit.

FulfillmentCenter LocationCode LocationDate  City latitude longitude
A 1 03/01/2009  boston 42.35843 -71.06977
B 2 01/01/2010  chicago 41.87823 -87.6298
c 3 06/06/2012  memphis 3514953 -80.04888
D - 02/01/2010  los angeles 34.05223 -118.2437
A 5 08/02/2012  seattle 47 60621 -122.3321
OrderDate  Item FulfilmentDate  FulfillmentCenter
01/01/2008 3054 02/11/2013 A
09/10/2012 4091 08/02/2012 B
04/03/2015 3056 12/09/2014 D
0211172013 1035 01/04/2016 B
08/02/2012 2060 02/01/2002 B
12/09/2014 3039 11/10/2014 C
01/04/2016 4050 07/12/2008 D
07/12/2008 3089 056/03/2013 C

A data architect has a data model that includes historical order fulfillment centers. The order fulfillment
centers occasionally changed location. The history of order fulfillment must be tracked on a per center, per
location basis.

Which scripting function should the data architect use to meet this data modeling requirement?

A. IntervalMatch

B. Peek

C. ApplyMap

D. Inner Join

Correct Answer: A

QUESTION 2

Refer to the exhibit.
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Students

StudentID #

Exams
Name

StudentID 2

Exam

Vote

A data architect builds a simple data model to show the relationship between students and exams. The
data is loaded. Every StudentID in the Exams table should be found in the Students table. Some students
have NOT taken an exam.

The data architect selects the field "StudentID" from the Students table and sees the following:

StudentID
Density 188%
Subset ratio 06.6%

—
q

Has duplicates

Total distinct values

Present distinct values 4
MNon-null values 8
Tags Ekey Snumeric $integer

A data architect needs to fix this anomaly.

What should the data architect do to ensure data integrity?

A. Update the Students table and add 16.7% of the missing records
B. Remove records from the Exams table where StudentID is null
C. Update the Exams table and add 33.4% of the missing records

D. In the LOAD script, add DISTINCT before the Students and Exams tables
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Correct Answer: C

QUESTION 3

Refer to the exhibit.

LOAD * INLINE |
ACCESS, USERID, GROUP, REGCIGON, OMIT
R

USER, DOMAIN\USER1l, Program Manager, *, UK
USER, DOMAIN\USER2, Training, IT, Salary
USER, DOMAIN\USER3, Presales, UK, Salary
USER, DOMAIN\USER4, Training, NL, Salary

DE, Germanyv

IT, Ttaly
UFK, United Kingdom
NI, The Netherlands

USER1 has an app protected using this Section Access statement. Which countries can USERL1 see in the app\\'\\
A. Germany. Italy, United Kingdom, The Netherlands

B. Italy, The Netherlands

C. Italy, United Kingdom, The Netherlands

D. Germany Italy, The Netherlands

Correct Answer: D

QUESTION 4

A data architect executes the following script:
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Tabis Al
LoAD = INLINE §
Pield 1, ¥Field 2; Pisld 3
0l; A8, 149
:' ]_J- _:"_: P 5':'
2'2 ¥ ::l-]:' ¥ 7 E

ia

Join (Tablie &)
Table B:
LOoAD * INLINE
Field 1, Field 4, Field 5
0l, 38%; 580

03, E0%, 1000

iy

[
]
i

What will be the result of Table_A?
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B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 5

Refer to the exhibit.

Table A

LOAD * INLINE [
Field_1, Fleld_2, Fieid 3
A; 1, 001

A, 2, 003

B, 3,000 };

Table_B:
LOAD " INLINE |
Field 1. Field 2, Field 4
A, 1, 456

A, 3, 567

B, 1, 789]

A data architect needs to modify the script to ONLY load rows fromTabl e_B when Field_1 and Field_2 are the same as
inTabl e_A. (For example, only the row containing A. 1. 456 should be loaded fromTabl e_B ) Which script should the
data architect use?
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Al

Table A

LOAD = INLINE [

Fiald 1, Fisld 2, Fiaid 3

a; I g0l
b, 2, 003
B; 3, 005 1

By L, TEE]

Whare Exisre(Field 1, 7Fi=la 2}

8)

Table &:

LORD * INLINE I

Fiel Fiald 1, Piald 3

L
#, 1, 901
&y -2 003
By 3 OGS

Ieit Feep[Table A
ToAD & INLINE [
Eiaid 1y Fimld 2; Fiasld 4

A, 1, 458
A, 3, B&7
B, 1, 7803

cl
Tablse &:

LOAD * INLIBE [

Fiald 1, Fisld 2, Fiald 3
3 1 Oed
Ay Ly Q01

A, 2, 003

By T 905 3

e

Taple Bj;

LOAD = TINLINE [

Fisid 1, Field 2, Pield 4
B, 1, 436

e

3y 287
B, 1; 7=3]
Whare Fxiste(Fizld +):
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TabLa_L:
LORD = INI.FME '
Fisid 1., Fislda 2, Fl=sla 3
A, 1, 661
P -l-"-J '-"-'-}

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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